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Candidates are required to give their answers in their own words 

as far as practicable. 

দক্ষিণ প্রান্তস্থ সংখ্যা গুক্ষি প্রশ্নের পূণ ণমাশ্নের ক্ষেশ্নদণশক। 

পরীিার্থীশ্নদর যর্থাসম্ভব ক্ষেশ্নের ভাষায় উত্তর ক্ষদশ্নে হশ্নব। 

 

Section-A 

1. Answer any five from the following questions:                                                   (2×5=10) 

a) What is meant by agricultural system? 

কৃষি ব্যব্স্থা ব্লতে ষক বব্াঝ? 

b) Name two plantation crops. 

দুটি প্রধান ব্াষিচা শতযযর নাম বলখ l 

c) What is silviculture? 

Silviculture ষক? 

d) What is mixed farming? 

ষমশ্র কৃষি ষক?  
e) Name two important industries of Asansol-Durgapur industrial region. 

আযানতযাল-দুি গাপুর ষশল্পাঞ্চতলর দুটি গুরুত্বপূর্ গ  ষশতল্পর নাম বলখ l 

f) What is transport connectivity? 

পষরব্হন যংযুক্তি  ষক? 

g) What is industrial inertia? 

শিল্প জাড্য শি?  
h) What is the full form of EEC? 

EEC-র পুতরা নাম ষক?  

Section-B 

 

 2. Answer any five from the following questions:                                        (4 x 5 = 20)   

        

a) What is the difference between intensive and extensive agriculture? 

ষনষব্ড় ও ব্যাপক কৃষির মতধয পার্ গকয ষক?  
b) Explain the advantages of social forestry. 

যামাক্তিক ব্নযিৃতনর যুষব্ধাগুষল আতলাচনা কর । 

c) Explain the chief features of mixed farming. 

ষমশ্র কৃষির মুখয বব্ষশষ্ট্যগুষল আতলাচনা কর ।  

d) Examine the role of transport in industrial location. 

ষশতল্পর অব্স্থাতন পষরব্হতনর ভূষমকা পয গাতলাচনা কর ।  
e) What are the reasons behind the development of Asansol-Durgapur industrial region? 

আযানতযাল-দুি গাপুর ষশল্পাঞ্চল িতড় ওঠার কারর্গুষল ষক? 



 
 

 

f) Mention the principal assumptions of Losch’s industrial location theory. 

ষশল্প স্থাপন যংক্রান্ত Losch-এর েতের প্রধান শেগগুষল উতেখ কর।  
g) Explain the role of SAARC in international trade. 

ষব্শ্ব ব্াষনতিয SAARC-এর ভূষমকা যম্পতকগ আতলাচনা করl 

h) Explain the objections and functions of WTO. 

WTO-র উতেশয এব্ং ক্তক্রয়াকলাপ যম্পতকগ বলখ l 

 

Section-B 

3.  Answer any one of the following questions:                                               (10 x 1 = 10) 

a) Briefly explain the major landuse zones of Von Thunen’s model. 

Von Thunen মডড্ডের প্রধান ভুশম ব্যব্হার অঞ্চেগুশে সংডেডে আডোচনা ির।  
b) Explain with diagrams Weber’s theory of industrial location. 

Weber-এর ষশতল্পর অব্স্থান যংক্রান্ত েেটি ষচত্রযহ আতলাচনা কর l  

 

 


